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2M: WE1s
M =040 F SAHYES)

tel: Ot80=2 texd (el &)
SA-EFH - SA(SAH) - MREAY - BES Off &F OH I8N BlusZ

WeE1s 561,720 559,020 2,700

=olael & g (Ud1s) 139,293 136,593 2,700

OtSti2 Ot=xd 139,293 136,593 2,700

=0lME X 102,753 100,053 2,700

405 KH&HEFHSHI 2,700 0 2,700

01 MR ESF=H 2,700 0 2,700

oz H=I 24 2,700,000& = 1CH 2,700 0 2,700




A HE2S

HE: F0l 40 M A (HE2S)
Sl OISC0I2 012X (S5 &2)
SH-EH . C(BH) - NRAY - BES O AF o8 )= e bRz

= 606,057 604,057 2,000
ol & ga(u=es) 144,389 142,389 2,000
OtSti2 Ot=xd 144,389 142,389 2,000
=0lME X 111,789 109,789 2,000
201 et=gl 13,451 11,451 2,000

01 AtR2telH] 10,500 8,500 2,000
OFUSEYRFZE detZH|(JIE2H!) 5,300 3,300 2,000




N SEMAS

HA: F0IM0 B BM(BYAHE)

Crol: OISCIE OIS XA (el @2
SA-E . S(E) - MEAY - BES 0l & o o1& o SImE=ET
SEANES 857,140 859, 140 A2,000
TR & M (SYMES) 251,631 253,631 A2,000
otttz or=x4 251,631 253,631 A2,000
=QlME X 216,571 213,171 3,400
301 LetEas 202,240 198,840 3,400

06 &-cl-EtEEsEas 195,320 191,920 3,400
osd=+4 2,800 0 2,800
oJlzs 200,000 = 2% » 53 2,000 0 2,000
O&d= 200,000& * 29 400 0 400

Ol & A&=2 20,0008 » 298 * 23| » 53 400 0 400
ogtd=4¢ 50,000& * 12% 600 0 600
FAEE e 10,700 10,400 300
405 KHoHESHI 300 0 300
01 T =SS HSHI 300 0 300
oYl 301 300,000 * 14 300 0 300
FUNXEH 29 24,360 30,060 A5,700
201 Let2E] 21,460 27,460 A6,000
01 AtS 22l 20,860 26,860 26,000
o2Z=+¢ 18,000 24,000 26,000
OFQUINXEEHZY ZAt+=E 18,000 24,000 6,000

—A Ol A 0 0 3,000 A3,000
-S4 0 0 3,000 A 3,000

405 KHAHFESHI 300 0 300
01 TS SHSHI 300 0 300
OHZ0lg &3 75,0008 = 404 300 0 300




SN 2ES
E: HHSYAH(SHS)
chel: ol | =k
SN -BH - S(B) - MRAY - BES Aol Pl 2t
28 793,335 789,017 4,318
HYSIAY (SHE) 551,082 547,714 3,318
o1t 2 | 482,527 479,209 3,318
o124t 463,207 460,309 2,898
101 o124 463,207 460,309 2,898
01 24 463,207 460,309 2,898
o+g 73,082 70, 184 2,898
oZurg 43,015 40,117 2,898
~ROFEEAY 1,449,000 * 40% + 5IHE 2,898 0 2,898
=214l 19,320 8,900 420
204 =S LA 19,320 18,900 420
IEEEES 19,320 8,900 420
0893 9,240 8,820 420
ool B BN (SES) 242,303 241,303 1,000
OlECtE D2 EH 242,303 241,303 1,000
FolMg Xe 189,923 88,923 1,000
201 2sr2 | 12,875 11,875 1,000
02 232 2,811 1,811 1,000
OLEDEZE 22t 1,000 0 1,000




SN BYYUMLS
HE: =0l a0 B M (STYAMYE)

9l OIECHR D2 X4 (9l &2
SM-EH . C(BH) - HRAY - B2 Ofl Ak 04 JIE o HRs2
Zgdguads 558,210 547,010 11,200
=0l 4ol & sa(SEdLMLS) 124,847 113,647 11,200

OtECI2 OI=Xx4 124,847 113,647 11,200
FAretd e 6,050 4,850 1,200

401 A &HIYL 2048 1,200 0 1,200
01 Al&H| 1,200 0 1,200
© BAFA £ BA 300,008 * 44 1,200 0 1,200
e A2 X3 10,000 0 10,000
405 KHAHFESHI 10,000 0 10,000
02 AT 10,000 0 10,000
OFURIME Y H2THR THTY
10,000& = 1,000 10,000 0 10,000




SN SAHIS
ZE: F=0l 40 B FA(SSHIS)

CHol: OISCI2 D2 X4 EEREE)
SN -BH - S(B) - MRAY - BES Off &k [ =)e HRE2
SIS 918,618 913,618 5,000
Z0 4o B BA(SAHIS) 283,961 283,961 5,000

OIECIE OIS XX 283,961 283,961 5,000
Fol e 202,881 217,881 5,000

401 AlEBIL2Thb| 22,500 17,500 5,000
01 Al 22,500 7,500 5,000

OFMN T2 A2(25) YHBA
5,000,008 * 14! 5,000 0 5,000




SN BUR2S
M HHSHAY(SLHLE)

ool oz 2| (9l & 2
SN-EHH . SH(BH) - HPAY - BE2 O AF o8 )= e B2
SYH2S 717,626 714,451 3,175
HH2AH (BYRILS) 516, 139 515,964 175

ol 2g| 445,725 445,550 175
2244 17,815 17,640 175

204 X243 AY| 17,815 17,640 175

EEEES 17,815 17,640 175

073 3,535,0002 3,535 3,360 175

0140 B HA(SLHLS) 201,487 198,487 3,000

EE=NEESE 201,487 198,487 3,000

=SIPEIE 162,867 160,967 1,900

401 Al&HIL 20| 1,000 0 1,000

01 Al&t] 1,000 0 1,000
OSFUME MYRTAT P4

250,008 * 474 1,000 0 1,000

405 THAHE SHI 900 0 900

01 RAUSEZ S| 900 0 900

CEEIE 50,0008 * 67 900 0 900

HALEY JHA 5,800 4,700 1,100

401 Al&HIL 20| 1,100 0 1,100

01 Al&H] 1,100 0 1,100
OSFUMEH YD B4 TA

50,0008 * 24 1,100 0 1,100
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2N 22
g =0

SHel: OIS0 D2 X d (e

2N -3 - c2(3H) - NEME - HES 0] Ao pjEsifon Hl =2
IAXE 510,115 510,115 0
[= 0 25,000 225,000
Al 510,115 485,115 25,000
Nge] (2&E) 152,590 152,590 0
[= 0 25,000 225,000
Al 152,590 127,590 25,000
OlECI2 02X 4 152,590 152,590 0
[= 0 25,000 225,000
Al 152,590 127,590 25,000
E AMIIES 01201310 35,000 35,000 0
[= 0 25,000 225,000
Al 35,000 10,000 25,000
206 24l 15,000 15,000 0
[= 0 5,000 25,000
Al 15,000 10,000 5,000
01 24l 15,000 15,000 0
OEYII MY A RA('10E & AIIE=
2 OISR AFY AAFHI<KEHI>)
15,000,0002 * 14l 15,000 15,000 0
[~ 0 5,000 A5,000
Al 15,000 10,000 5,000
401 Al&HI LY 20,000 20,000 0
[= 0 20,000 220,000
Al 20,000 0 20,000
01 Al&H] 20,000 20,000 0
O&FZ I AFHE X ZSAH('10E & ADIE
2 DFSJIRI| AFY A A HIKEHI>)
20,000,000 = 14l 20,000 20,000 0
[= 0 20,000 220,000
Al 20,000 0 20,000
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